
Part One 
 

The answers to the anagrams are: 
 

SGINITMETAREU = TIME SIGNATURE 
ECALS = SCALE 
AURKAZM = MAZURKA 
ETI = TIE 
CICANEDALT = ACCIDENTAL 
TERS = REST 
DIRAT = TRIAD 
ELELIGENSR = LEGER LINES 
PUHEONUMI = EUPHONIUM 
UIRGTA = GUITAR 
PITRELT = TRIPLET 
EONISETM = SEMITONE 
EOCTRN = CORNET 
EATSV = STAVE 
ECTOROCN = CONCERTO 
TIQUNET = QUINTET 
SAIORNLAGC = COR ANGLAIS 
ECODL = DOLCE 
LATANIECB = CANTABILE 
OALELARTMT = MARTELLATO 
AONIAPL = PIANOLA 

 

Parts Two and Three 
 

The final answer is: 
TANGO 


